Ideal &GOS Lauw)

P = pressure (atm) N = number of moles (mol)
V = volume, (LD T = femperature (K)

14 = ideal gos constant
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Y 133 mol of oxygen gos exerts .830 atm of presswe

ot -1L0%C. what is theWolume of +hi torrtouinur
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A (zg_j{_tg_jS_r_ngl__oﬁ helivm gas occvpies a 2.00L L contaimneC

with o. pressure oF .92latm. what is +Hoe temperature
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3)  How rmany_mols nnLrous oxide (Mzo) is contoined

I8} a\lzo 0L holloon_ ressure 0—{1 0.8 odm ol
a-femperofure. 100. 0"(1 Wwhat is thCmass of N:0)

in +he balloon 2 ——1 | _TPVanRT -
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) AL 52.LL tonk is Lilled with Neon Qas, 115.0mol, at o
temperature Of 45,0, whot is +he pressure in o tank?

V= nRT
P=" P- NRT
V= 5260 v
e 2 Pz 115.0m0 - 08200 oo 341
R= 000 45 Ha AL
T= 95004293
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53} A scubo. fonk with o. Uoloome &f 350.0L Jholds oxygen
gos ot o pressure. of (G5.0atm and 10.0°C, How manﬂ
molss of oxq%m are in +m, tank! whot mass of oxy
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